113-2 EME(— T T=T)HEBERBLERE(114.7.24(8)

FRMSF RSN SR |RRER BERBE EESR 25F | SHE FYE BEIRE BRERE

113 2 000014 HFEX O 06 291006 = N BERE HBABRERIAR

113 2 2 000017 5 I 06 |291006| = FAYE

113 2 2 000014 11 [291011| = NG BERE HBABRERIAR

113 2 2 000017 11 291011 = Rz

113 2 2 000017 18 [291018| = FYE

113 2 2 000014 21 [291021| = A5 BERE BBABRERIAZ

113 2 2 000017 23 1291023 = FYE

113 2 2 000046 02 210302 = Rz

113 2 2 000015 02 1210302 = FYE

113 2 2 000046 08 210308 = Rz

113 2 2 000015 08 1210308 = FYE

113 2 2 000046 13 1210313 = Rz

113 2 2 000065 13 [210313| = FYE

113 2 2 000046 17 1210317| = Rz

113 2 2 000065 17 [210317| = FYE

113 2 2 000001 18 [210318] = |[FW(ENE)|FFHREENH)| BWAEBIHRZEA(320-240)*1=80
113 2 2 000006 18 [210318| = |[FW(ENE)|FFHREENH)| SWNEBIHRZA(320-240)*1=80
113 2 2 000046 HEXI 18 [210318| = FYE

113 2 2 000065 EFEX O 5 18 1210318 = FYE

113 2 2 000011 ESEean - 01 210319 = FYE

113 2 2 000065 75> I B 01 |210319] = FYE

113 2 2 000006 B - 04 210322 = |AHEXRE)|FHEREENE)| BMNELITIRZER(320-240)*1=80
113 2 2 000046 NI B 04 1210322 = FYE

113 2 2 000065 EFEX O - 04 1210322 = FYE

113 2 2 000011 NI B 16 1210334 = FYE

113 2 2 000065 B E 16 [210334| = FYE

113 2 2 000001 IR 01 [210701] 2 |RHEXE)|HHFREENE)| SHNELIIRZER(320-240)*1=80
113 2 2 000006 B 01 [210701| 2 |MREXE)|HHFREENE)| SHNELBIIRZER(320-240)*1=80
113 2 2 1000020 EGitnssnl 01 [210701] =& NG EBERE HBEANBREFRITAL

113 2 2 000046 NI 03 210703 = FYE

113 2 2 000015 ElFEX O 03 ]210703| = FYE

113 2 2 000003 HEO 07 210707 R FYE

113 2 2 000006 B 07 1210707 = |BHEXRE)|FHEREENE)| BWMNELITIRZERR(320-240)*1=80
113 2 2 000065 5 I 07 |210707| = FAYE

113 2 2 1000020 EGitnssnl 07 |210707| = NG EBERE HBEANBREFRITAL

113 2 2 000003 HEO 15 [210715| =& FYE

113 2 2 000065 IEX O 15 [210715| = FYE

113 2 2 000046 NI 16 1210716 = FYE

113 2 2 000015 a 16 [210716| = FYE

113 2 2 000001 IR 18 [210718] = |[FW(ENE)|FFHREENH)| SWNEBIHRZEA(320-240)*1=80
113 2 2 000003 HEO 18 [210718| =& Rz

113 2 2 000006 ESE I 18 [210718| = |BANM(ENE)|FHREENH)| BWNNEEIREEA(320-240)*1=80
113 2 2 000065 EFE X O 18 1210718| = FAYE

113 2 2 1000020 EGitnssnl 18 [210718] = B3 EBERE HBEANBREFRITAL

113 2 2 000003 HEO 32 1210732 = Rz

113 2 2 000006 B 32 210732 = |HAHEXRE)|FHEREENE)| BMNELITIRERR(320-240)*1=80
113 2 2 000065 75> I 32 |210732] = Rz

113 2 2 000003 HET 37 1210737 = FYE

113 2 2 000065 EFEX O 37 |210737| = FYE

113 2 2 000015 ElFEX O 11 [210211| = FYE

113 2 2 000003 HEO B_H 121210212 = FYE

113 2 2 000046 HEXI BE_HF 12 1210212 & FYE

113 2 2 000015 EFE X O B_H 121210212 = FYE

113 2 2 000003 HET BE_HF 13 1210213| =& FYE

113 2 2 000003 HEO B_H 18 1210218 = FYE

113 2 2 000046 HEXI BE_HF 18 1210218 =& FYE

113 2 2 000015 75> I B_H 18 1210218 = FYE

113 2 2 000046 HEXI BE_HF 28 [210228| = FYE

113 2 2 000065 EFE X O B_H 28 1210228 = FAYE

113 2 2 1000024 Bl BT H 28 |210228| # B3 EBERE HBEANBREFRITAL

113 2 2 000032 RXBEERED B_H 28 1210228 = FYE

113 2 2 000036 EmilTAHmI BE_HF 28 [210228| = FYE

113 2 2 000003 HEO B_H 30 |210230| = FYE

113 2 2 000011 HEXI BE_F 30 [210230] = FYE

113 2 2 000065 75> I B_H 30 |210230| = FYE

113 2 2 000036 Emil LA BE_F 30 [210230] = FYE

113 2 2 000041 | #HEEmMTEZEI BE_H 30 [210230| = A5 BERE BBANERERITAZ

113 2 2 000001 HIET BE_F 32 210232 % |AHEXRE)|FHEREENE)| BMNELITIRZERR(320-240)*1=80
113 2 2 000003 HET BE_HF 32 [210232] = FYE

113 2 2 000046 NI B_H 32 |210232| = Rz

113 2 2 000065 EFEX O BE_HF 32 [210232] = FYE

113 2 2 000036 BN T45m I B_H 32 |210232| = Rz

113 2 2 000003 HET B2 20 1210256 = FYE

113 2 2 000006 LI B2 20 210256| 2 |H(EXE)|HHEREENE)| SHNELBIIRZER(320-240)*1=80
113 2 2 000065 ElFE O B2 20 1210256 = FYE

113 2 2 000003 HEO B2 34 1210270 = Rz

113 2 2 000065 ElFE O B2 34 1210270 = FYE

113 2 2 000036 BI04 B2 34 1210270 = FAYE

113 2 2 1000041 #EEmAMTEED | B- 2 34 210270 # NG| EBERE HBEANBREFRITAZ

113 2 2 000001 IR B2 35 [210271] 2 |HHR(EXE)|HHEREEXE)| SHNELIIRZER(320-240)*1=80
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113-2 EME(— T T=T)HEBERBLERE(114.7.24(8)

FMBF RSN SR |RRER BERE PIERESTE | REESE 25; | SHE FAYE BIEIRE BREREA

113 2 2 000003 HET B2 35 1210271 = FYE

113 2 2 000006 LI B2 35 210271 2 |HEXE)|BHHEREENE)| SHNELBIIRZER(320-240)*1=80
113 2 2 000046 HEXI B2 35 1210271 = FYE

113 2 2 000065 EFEX O B2 35 |210271| = Rz

113 2 2 000036 Emil LA B2 35 210271 = FYE

113 2 2 000041 | #HEEmMTEZEI B2 35 |210271| = A5 BERE BBABRERIAZ
113 2 2 000003 HET = 02 1210902 = FYE

113 2 2 000046 NI B 17 1210917 = Rz

113 2 2 000032 BENEBRED 17 [210917| = FYE

113 2 2 000003 HEO 19 [210919| =& Rz

113 2 2 000003 HET 23 1210923 = FYE

113 2 2 000024 EEEEe 06 |210106| = A5 BERE BBABRERIAZ
113 2 2 000027 AMBHEERT 06 1210106 = FYE

113 2 2 000003 HEO 07 210107 R Rz

113 2 2 000015 ElFEX IO 07 1210107 = FYE

113 2 2 000003 HEO 11 [210111| 2 Rz

113 2 2 000015 ElFE I 11 [210111| = FYE

113 2 2 000019 KEWHEI 11 210111 = A5 BERE BBABRERIAZ
113 2 2 000003 HET 12 [210112| = FYE

113 2 2 000006 EseO 12 [210112] % |[FV(ENE)|FFHREENH)| SHAEBIHRZEA(320-240)*1=80
113 2 2 000065 ElFEX IO 12 [210112| = FYE

113 2 2 000003 HEO 15 [210115| =& Rz

113 2 2 000065 EX O 15 [210115| =& FYE

113 2 2 000060 BEERDT 26 |210126| = Rz

113 2 2 000059 BIKERAT 26 1210126 = FYE

113 2 2 000060 BEERDT 27 |210127| = Rz

113 2 2 000059 BIKERAT 27 1210127 = FYE

113 2 2 000003 HEO 17 [210017| =& Rz

113 2 2 000065 ElFE IO 17 [210017| = FYE

113 2 2 000003 HEO 30 210030 = Rz

113 2 2 000003 HET 36 1210036 = FYE

113 2 2 000011 RN 05 |210505| =& FAYE

113 2 2 000028 KEBESO 05 210505 = N BERE HBABRERIAR
113 2 2 000003 HEO 10 [210510| =& Rz

113 2 2 000003 HET 11 [210511| = FYE

113 2 2 000011 BN 11 210511 = Rz

113 2 2 000032 BENEBREDL 11 [210511| = FYE

113 2 2 000003 HETO 13 [210513| =& FAYE

113 2 2 000028 KEBESD 13 [210513| = N EBERE HBABRERITAZ
113 2 2 000031 EHRIAEYET 13 1210513 = i BEIRE BBANERERITAZ
113 2 2 000038 KEEYEHZD 13 [210513| = N EBERE HBABRERITAZ
113 2 2 000028 KESEZDO 18 1210518| = i BEIRE BBANERERITAZ
113 2 2 000031 EREYET 18 [210518| = N EBERE HBABRERITAZ
113 2 2 000038 KELEMEHI 18 1210518| = A5 BERE BBABRERIAZ
113 2 2 000011 HEXI 24 1210524 = FYE

113 2 2 000032 RXBEERED 24 1210524 = Rz

113 2 2 000003 HET 28 1210528 = FYE

113 2 2 000003 HEO 32 1210532 = Rz

113 2 2 000011 HEXI 32 1210532 = FYE

113 2 2 000028 KESEZDO 32 |210532| = i BEIRE BBANERERITAZ
113 2 2 000031 EREYET 32 1210532 = N BERE HBABRERIAR
113 2 2 000032 RXBERED 32 |210532| = FAYE

113 2 2 000038 KEEYEHZD 32 1210532 = N BERE HBABRERIAR
113 2 2 000032 RXBEERED 05 |210805| = Rz

113 2 2 000011 HEXI 06 1210806 = FYE

113 2 2 000032 RXBEERED 06 |210806| = Rz

113 2 2 000011 HEXI 14 (210814 = FYE

113 2 2 000065 EFE X O 14 1210814 = FAYE

113 2 2 000030 X AEE T 14 (210814 = N BERE HBABRERIAR
113 2 2 000032 RXBEERED 14 1210814 = Rz

113 2 2 000011 HEXI 24 1210824 = FYE

113 2 2 000032 RXBERED 24 1210824 = FAYE

113 2 2 000030 X AEE T 26 1210826 = N BERE HBABRERIAR
113 2 2 000003 HEO 29 1210829 R= FAYE

113 2 2 000030 X AEE T 29 1210829 = N BERE HBANBRERIAR
113 2 2 000001 IR 11 [210611] 2 |[FWENE)|FFHREENH)| SWAEBIHRZEA(320-240)*1=80
113 2 2 000003 HEO 11 [210611| =& Rz

113 2 2 000010 B ED 11 [210611| = FYE

113 2 2 000046 NI 11 210611 = Rz

113 2 2 000065 ax I 11 [210611| = FYE

113 2 2 000020 BRI 11 210611 = A5 BERE BBABRERIAZ
113 2 2 000023 [EEIEEIN 11 [210611| = FYE

113 2 2 000034 R R T 11 210611 = Rz

113 2 2 000003 HET 19 [210619| = FYE

113 2 2 000032 RXBERED 19 1210619 = Rz

113 2 2 000003 HET 22 1210622 = FYE

113 2 2 000010 ZE2O 22 |210622| = Rz

113 2 2 000011 HEXI 22 1210622 = FYE

113 2 2 000011 NI 26 |210626| = Rz

113 2 2 000065 X 26 1210626 = FYE

HIH O HIH




1132 EME(— T ZF=T)BBEEREERE(114.7.2418)

FANSF REREH SR |RRFR BMERE PEERESTE | REESE 25; | SHE FAYE BIEIRE BREREA

113 2 2 000011 HEXI = 30 210630 = FYE

113 2 2 000032 RXBERED 30 |210630| = Eizboi

113 2 2 000066 HIET 33 [210633] = |HAHEXRE)|FHEREENE)| BMNELITIRZEEA(320-240)*1=80
113 2 2 000055 B ED 33 1210633 = FYE

113 2 2 000054 BEIEEL 33 |210633| = Eizboi

113 2 2 000056 FNI R R I 33 1210633 = FYE

113 2 2 000011 NI 13 1110313 = Eizboi

113 2 2 000065 BIFEX I = 13 [110313| = FYE

113 2 2 000016 1125E(EHE| 11 (010328 2 [RWL(ENH)| PHEREERE)| SHRESIIREER(320-240)*3=240
113 2 2 000033 112FE/E3E| 11  [010328| = N BERE HBABRERIAR

113 2 2 000016 B= 14 (110714 % |[FAWENE)| FFREERE)| SHXE2IREER(320-240)*3=240
113 2 2 000003 = 21 110721 = FYE

113 2 2 000012 B= 32 |110732] = A5 BERE BBAERERITAZ

113 2 2 000003 BE=F 06 110206 = FYE

113 2 2 000046 NI B=H 06 110206 = Eizboi

113 2 2 000016 A XIV BE=F 06 [110206| = |MW(EXRE)|PEREENE)| ENNESIIREER(320-240)*3=240
113 2 2 000036 BT 45 B=H 06 110206 = Eizboi

113 2 2 000003 HET BE=F 12 [110212| = FYE

113 2 2 000046 NI B=F 121110212 = Eizboi

113 2 2 000012 FEREXIV BE=F 12 (110212 = N BERE HBABRERIAR

113 2 2 000065 EFEX O B=2 28 110259 = Eizboi

113 2 2 000016 BFE IV B=2 28 110259 = |MAW(EXRE)|PEREERE)| ENNESIIREER(320-240)*3=240
113 2 2 000046 B B=2 29 110260 = FYE

113 2 2 000016 B=2 29 |110260| = |MAW(EXRE)|PHEREENE)| ENNESIIREER(320-240)*3=240
113 2 2 000011 1118EE3F| 11 (910282 = FYE

113 2 2 000032 SR A 1113EE3E| 11 (910282 2 FYE

113 2 2 000041 | #yEEmMTERT |111FEEH| 11 910282 = i BERE BBANERERITAZ

113 2 2 000012 HEEXIV = 18 [110918| = N BERE HBABRERIAR

113 2 2 000046 NI = 18 1110918| = Eizboi

113 2 2 000046 HEXI = 25 1110925 = FYE

113 2 2 000065 EFEX O B= 25 110925 = Eizboi

113 2 2 000016 BFE IV = 25 [110925| = |MAW(EXRE)|PHEREERE)| ENNESIIREER(320-240)*3=240
113 2 2 000016 B 5 IV B= 40 1110940| 2 |FHEXE)|BHEREENE) | BHMEEIHRZEA(320-240)*3=240
113 2 2 000020 EGilassa = 40 110940| = N BERE HBABRERITAR

113 2 2 000041 | #HEEmMTEZEI 40 [110940( = i BERE BBANERERITAZ

113 2 2 000024 BImg R 1T 08 |110108| = N BERE HBABRERITAZ

113 2 2 000019 KEWHEI 12 1110112 = A5 BERE BBABRERIAZ

113 2 2 000003 HET 14 (110114 = FYE

113 2 2 000046 RN 14 1110114 = Eizboi

113 2 2 000024 BImgRE X 1T 14 |110114| =& N BERE HBABRERIAR

113 2 2 000046 NI 16 110116 = Eizboi

113 2 2 000015 ElFE I 16 [110116| = FYE

113 2 2 000019 KEWHEI 16 110116 = A5 BERE BBAERERIAZ

113 2 2 000016 A XIV 25 [110025| = |MAWN(EXRE)| PHEREERE)| ENNESIIREER(320-240)*3=240
113 2 2 000003 HEO 28 110028 = Eizboi

113 2 2 000046 HEXI 28 1110028 = FYE

113 2 2 000016 BHE IV 28 110028| 2 |RM(EXRE)| PHEREERH)| SHNESIIREER(320-240)*3=240
113 2 2 000065 I:EX IO = 28 1110028 = FYE

113 2 2 000012 FERENXIV = 06 |110506| = i BEIRE BBANERERITAZ

113 2 2 000038 KEEYEHD = 07 110507 = N BERE HBABRERITAR

113 2 2 000012 FHRENIV = 24 1110524 = A5 BERE BBABRERIAZ

113 2 2 000046 HEXI 5= 24 1110524 = FYE

113 2 2 000028 KESEZDO 1125E(EHE| 05 [010505( = i BEIRE BBANERERITAZ

113 2 2 000031 EREYET 112FE/E3E| 05 [010505| = N BERE HBABRERITAR

113 2 2 000038 KELEMEHI 1125E(EHE| 05 [010505( = i BEIRE BBAERERITAZ

113 2 2 000031 EREYET 112FE/E3E| 28 [010528| = N BERE HBABRERIAR

113 2 2 000003 B2 = 04 110804 = Eizboi

113 2 2 000003 HET = 10 [110810| = FYE

113 2 2 000046 NI = 10 110810 = Eizboi

113 2 2 000016 A XIV = 10 [110810f = |FM(ENE)|FFREENE)| ENXESIIREER(320-240)*3=240
113 2 2 000065 EFE X O = 10 110810 = Eizboi

113 2 2 000040 | B EZZ AR I = 10 [110810| = N BERE HBABRERIAR

113 2 2 000011 Exe = 18 1110818| = Eizboi

113 2 2 000040 | B EZZ AR I = 18 [110818| = N BERE HBABRERIAR

113 2 2 000003 HEO = 25 110825 = Eizboi

113 2 2 000065 BIFE XTI = 25 1110825 = FYE

113 2 2 000030 > s 2 0 = 25 110825 = i BEIRE BBANERERITAZ

113 2 2 000040 | B EZZ AR I 25 1110825 = N BERE HBABRERIAR

113 2 2 000051 | &hlFRAVE T EE I 33 |110833| = Rz

113 2 2 000062 E R I 35 1110835 = FYE

113 2 2 000040 | B EZE %R HH I 35 |110835| = A5 BERE BBABRERIAZ

113 2 2 000044 R 35 1110835 = FYE

113 2 2 000010 ZE2O 04 110604 = Eizboi

113 2 2 000046 HEXI 04 1110604 = FYE

113 2 2 000024 EImRE S 1T = 04 |110604| = A5 BERE BBABRERITAZ

113 2 2 000016 B IV E= 07 1110607 = |MAWEXRE)|PHEREENE)| ENNESIIREER(320-240)*3=240
113 2 2 000033 EXIEEREIV == 07 |110607| = A5 BERE BBABRERITAZ

113 2 2 000016 BRIV 112E(E3HE| 33 (010633 Z |[FWMENH)| PHEEREERE)| SHRBSIREER(320-240)*3=240
113 2 2 000034 R R T 1128EE3F| 33 [010633| = Rz

HIHHIH




